DU MA Japanese

Topic:- DU_J19_MA_JAPAN

1) EYDsTAH WE7, [Question ID = 1507]

1. LW X Ly [Option ID = 6028]

2. 8B [Option ID = 6026]
3. X L L [Option ID = 6025]
4. BF Z L» [Option ID = 6027]

Correct Answer :-
« BHHEL [Option ID = 6026]

2) A8 —Fy ME WHAWALEZLELOLANDS HEHR (CH->7, [Question ID = 1443]

LD [Option ID = 5769]
.54~ % [Option ID = 5770]
AN D [Option ID = 5771]
.3E~%  [Option ID = 5772]

AW

Correct Answer :-
o Hi~2% [Option ID = 5770]

3) AHIZA~NTLZ L BIh L7=, [Question ID = 1488]

1. ~ [Option ID = 5950]
2. % [Option ID = 5949]
3. T [Option ID = 5952]
4. |Z [Option ID = 5951]

Correct Answer :-
e |Z [Option ID = 5951]

4) RERRBEEAERTELEWL, BA. FE£ELTWVWE0DIE, Z0 T#%, [Question ID = 1462]

1. Z & [Option ID = 5845]
2. H ® [Option ID = 5846]
3. 7= [Option ID = 5848]
4. 5 5 [Option ID = 5847]

Correct Answer :-
o 7z% [Option ID = 5848]

5) HARNZ=0 HHBET, [Question ID = 1519]

1. 254k [Option ID = 6073]
2. 1] 4¢ [Option ID = 6074]
3. » D% [Option ID = 6075]
4. 7224 [Option ID = 6076]

Correct Answer :-
« 48k [Option ID = 6073]

6) ZoEMICIE HEHH3, [Question ID = 1517]

1. K\ [Option ID = 6065]
2. .59 & 9 L [Option ID = 6067]
3. $F L [Option ID = 6068]



4. — A\ [Option ID = 6066]

Correct Answer :-
o KU [Option ID = 6065]

7) LEIICSEONE%ZRE L1z, [Question ID = 1433]

I Z < [Option ID = 5729]
5 Z < [Option ID = 5730]
Z < [Option ID = 5731]

|
|
|
| < [Option ID = 5732]

1.
2. 1%
3. 1%
4. 1%5

Correct Answer :-
e |9 Z < [Option ID = 5730]

8) BHEF7Id. &. HRICH <, [Question ID = 1475]

. < [Option ID = 5897]

. 3 5 [Option ID = 5898]

. Ji-I < [Option ID = 5900]
LILTH [Option ID = 5899]

D WN =

Correct Answer :-
e < [Option ID = 5897]

1. ~ [Option ID = 6084]
2. | [Option ID = 6082]
3. #' [Option ID = 6083]
4. T [Option ID = 6081]

Correct Answer :-
e T [Option ID = 6081]

10) FvarykEa—%lE, RMET, FL - [Question ID = 1480]

1. 72/ % [Option ID = 5919]
2. &£ v [Option ID = 5920]
3. %9 L [Option ID = 5917]
4. (< Ly [Option ID = 5918]

Correct Answer :-
e [Z< ULy [Option ID = 5918]

11) SHAH5 S LHABH LAY £ L7, [Question ID = 1506]

1. & - & [Option ID = 6023]
2. 9 - & [Option ID = 6024]
3. U > & [Option ID = 6021]
4. |3 A 0 [Option ID = 6022]

Correct Answer :-
e XA ®D [Option ID = 6022]

12) HEOH WG, AB D E %17 Tw3, [Question ID = 1487]

1. & [Option ID = 5948]
2. % [Option ID = 5947]
3. T [Option ID = 5946]
4. | [Option ID = 5945]

Correct Answer :-



o 7% [Option ID = 5947]

13) #FETEFE TSI LT, HFVLA

1. & &£ % (Z [Option ID = 5860]
2. |ZHF T [Option ID = 5859]
3. [>T [Option ID = 5857]
4. |2 & > T [Option ID = 5858]

Correct Answer :-
e |2 & > T [Option ID = 5858]

14) HONIFZ. AZHHBHF7, [Question ID = 1427]

1. IZA ¥ [Option ID = 5707]
2. LA & [Option ID = 5708]
3. [ZA & [Option ID = 5706]
4. £ A % [Option ID = 5705]

Correct Answer :-
e |[ZA Z [Option ID = 5706]

1. {2 & - T [Option ID = 5873]
2. &£ Lo T [Option ID = 5876]
3.iTx LT [Option ID = 5875]
4. |2 & - [Option ID = 5874]

Correct Answer :-
o XL T [Option ID = 5875]

16) LA% L3 EF, [Question ID = 1522]

1. Z & T% [Option ID = 6088]
2. L T% [Option ID = 6085]

3. £ & T% [Option ID = 6087]
4. % & T3 [Option ID = 6086]

Correct Answer :-
e Z & T%H [Option ID = 6088]

17) KHDHIZZ IThiEE W &L, [Question ID = 1463]

1. (3 & [Option ID = 5850]
2. Z & [Option ID = 5851]
3. £ @ [Option ID = 5849]
4. 7-% [Option ID = 5852]

Correct Answer :-
e [T & [Option ID = 5850]

18) HWLW e DEIAIZZZICE X >TL =XV, [Question ID = 1439]

1. il [Option ID = 5754]
2. B [Option ID = 5756]
3. & [Option ID = 5753]
4. 4:4€ [Option ID = 5755]

Correct Answer :-
o L4 [Option ID = 5755]



19) B oI Hhbh W3kHE-7,
[Question ID = 1500]

1. JE#L T [Option ID = 6000]

2.)3->7T [Option ID = 5997]
3. #F > T [Option ID = 5998]
4. AT [Option ID = 5999]

Correct Answer :-
o ¥ 57T [Option ID = 5998]

20) BLvmEZAZ L, T HET [Question ID = 1441]

1. i [Option ID = 5763]
2. Iz [Option ID = 5764]
3. & [Option ID = 5762]
4. i [Option ID = 5761]

Correct Answer :-
» Ji% [Option ID = 5763]

21) Zhid, P4 HMHNTWBEL LK, [Question ID = 1489]

1. /% [Option ID = 5955]
2. ~% [Option ID = 5956]
3. % T [Option ID = 5953]
4. &% [Option ID = 5954]

Correct Answer :-
e X T [Option ID = 5953]

22) KE &I TH35, [Question ID = 1501]

. X% 72 % )k [Option ID = 6004]

. IN B )E [Option ID = 6003]
.#HAFB)E  [Option ID = 6002]
2% X%2%JE [Option ID = 6001]

D WN =

Correct Answer :-
e 2% X35 [Option ID = 6001]

23) @RELANBREAWVES, [Question ID = 1431]

1. (EAYA [Option ID = 5721]
2. 135 |+ A [Option ID = 5723]
3. IZ1T A [Option ID = 5724]
4. |25 |7 A [Option ID = 5722]
Correct Answer :-

e |ZFA [Option ID = 5724]

24) Fhf=BIEF R ZHS L TWis, Sbic, BICK-T, ZOFICA->TLE -7, [Question ID = 1467]

1. Z o [Option ID = 5866]
2. £® [Option ID = 5868]
3. &» @ [Option ID = 5867]
4. Z @ [Option ID = 5865]

Correct Answer :-
e Z O [Option ID = 5866]

25) HLT- AEHH B, [Question ID = 1516]



1. [fi4H [Option ID = 6064]
2. fi#% [Option ID = 6061]
3. i X [Option ID = 6063]
4. i [Option ID = 6062]

Correct Answer :-
o Tfi4% [Option ID = 6061]

26) FM4 713, AH TEIELEMENB-BDIEYH LE-EETHS, [Question ID = 1490]

1. & [Option ID = 5960]
2. % [Option ID = 5957]
3. % [Option ID = 5959]
4. #* [Option ID = 5958]

Correct Answer :-
o 7" [Option ID = 5958]

27) ot d FIZANTL SV, [Question ID = 1511]

1. 5+ L L [Option ID = 6042]
2. 13 Ly [Option ID = 6041]

3. L L Ly [Option ID = 6044]
4. BF = L» [Option ID = 6043]

Correct Answer :-
o BIFHZE L [Option ID = 6043]

28) CHTAHLHEARLEER o, £5LEDES5 D, [Question ID = 1473]

1. k& [Option ID = 5889]

2. fRA T [Option ID = 5891]
3. kA 7= [Option ID = 5892]
4. ik [Option ID = 5890]

Correct Answer :-
o {k& [Option ID = 5890]

29) &AL, &HL LZAICELHEELNVWELT., [Question ID = 1505]

1. &% % [Option ID = 6017]
2. %% Z [Option ID = 6020]
3. \Lv% [Option ID = 6018]
4. £ Z [Option ID = 6019]

Correct Answer :-
o % % [Option ID = 6017]

30) USAEITEE LWA, EE

1. 7% [Option ID = 5940]
2. £ T [Option ID = 5937]
3. |1 &£ [Option ID = 5938]
4. £ % [Option ID = 5939]

Correct Answer :-
o [T & [Option ID = 5938]

31) HIIHEELLSIAT>TWS, #HEDL 57, [Question ID = 1451]

1. k&5 12 [Option ID = 5804]
2. ¥ % T [Option ID = 5802]
3. 72 % (Z [Option ID = 5801]



4. = - & [Option ID = 5803]

Correct Answer :-
e X % T [Option ID = 5802]

32) HITITIHDOHEMHEIE L1=, [Question ID = 1432]

1. L Z [Option ID = 5726]
2. L Z [Option ID = 5725]
3. LI 9 [Option ID = 5728]
4. LUz 5 [Option ID = 5727]

Correct Answer :-
e L Z [Option ID = 5725]

33) HhEWEZETS « DEDHL<ES, [Question ID = 1476]

1. & [Option ID = 5903]
2. % [Option ID = 5902]
3. T [Option ID = 5904]
4. |Z [Option ID = 5901]

Correct Answer :-
e & [Option ID = 5903]

34) ChIFHENER TT, [Question ID = 1428]

TA Zw > [Option ID = 5710]
FA < 5 [Option ID = 5712]
FA < [Option ID = 5711]

|
|
|
17 A %= » [Option ID = 5709]

1.
2.
3.
4.

Correct Answer :-
e [FJAZw o [Option ID = 5710]

35) ESEDOA%IE, BELLWEARZMHDOF AW LETNIERSHALV, [Question ID = 1482]

1. & [Option ID = 5928]
2. % [Option ID = 5927]
3. T [Option ID = 5925]
4. |Z [Option ID = 5926]

Correct Answer :-
e |Z [Option ID = 5926]

36) N—FT 4 —ICF=K SADADRB EE 1P, T b o7, [Question ID = 1454]

1. 12 LT [Option ID = 5816]
2. & & %I [Option ID = 5814]
3. IZH LT [Option ID = 5813]
4. |2 & > T [Option ID = 5815]

Correct Answer :-
e (CxL T [OptionID = 5816]

37) mLLoIc, HFZAK EWE TR ERZEY ISR TN, [Question ID = 1470]

1. [ > = Y [Option ID = 5877]
2. Lo % 9 [Option ID = 5878]
3. £ 2% & [Option ID = 5880]
4, H EH & [Option ID = 5879]

Correct Answer :-



o HEIH X [Option ID = 5879]

38) MEHIFH-F-DT, A4 IE HBH%Z%E->TWET, [QuestionID = 1512]

1. 57 L\ [Option ID = 6045]
2. 4275 [Option ID = 6048]
3. I¥ 57 [Option ID = 6046]
4. %575 [Option ID = 6047]

Correct Answer :-
o AN227% [Option ID = 6048]

39) EHXFR->THD W HPE > TZ7=, [Question ID = 1510]

1. (Z1F L L [Option ID = 6037]
2. L L L [Option ID = 6038]
3. {2\ [Option ID = 6040]

4. 3 = Ly [Option ID = 6039]

Correct Answer :-
e (¥ L\ [Option ID = 6037]

40) FAH HHEFE 33, [Question ID = 1520]

1. %z [Option ID = 6079]
2. A' [Option ID = 6077]
3. T [Option ID = 6078]
4. |Z [Option ID = 6080]

Correct Answer :-
o 7% [Option ID = 6079]

41) HiE. HRF. HEEOXEXHIIKE ZEhH->7-, [Question ID = 1479]

1. % [Option ID = 5914]
2. T [Option ID = 5915]
3. [Z [Option ID = 5913]
4. < [Option ID = 5916]

Correct Answer :-
o < [Option ID = 5916]

42) FEABLTLEVLAR ¢=HN3, [Question ID = 1499]

1. fE45  [Option ID = 5995]
2. & [Option ID = 5993]
3. K45 [Option ID = 5994]
4. 445 [Option ID = 5996]

Correct Answer :-
o 1% [Option ID = 5994]

43) Il Vw5 DOKIEF, [Question ID = 1438]

Correct Answer :-
o I [Option ID = 5749]

44) §RTOZEIC [EbEFOL, £HICH S, [Question ID = 1458]



. %% % % [Option ID = 5831]
.94 % [Option ID = 5829]
. 0BEcd % [Option ID = 5830]
. 19 % [Option ID = 5832]

D WN =

Correct Answer :-
o [&X#Htd % [Option ID = 5829]

45) EIIMFHIFRE->TL S ZoEFEELETFNIERSAL, [Question ID = 1508]

1. £ T [Option ID = 6029]
2. ® T [Option ID = 6030]
3. IZ1% [Option ID = 6032]
4. £7-1% [Option ID = 6031]

Correct Answer :-
e X T [Option ID = 6029]

46) &I E=E iThh 3, [Question ID = 1504]

1. ~ [Option ID = 6014]
2. % [Option ID = 6016]
3. 7' [Option ID = 6015]
4. T [Option ID = 6013]

Correct Answer :-
e T [Option ID = 6013]

47) RIS, KREELFTICKELTES Lizb, TE3755D. [Question ID = 1494]

1. & [Option ID = 5974]
2. T [Option ID = 5976]
3. {Z [Option ID = 5973]
4. 75 [Option ID = 5975]

Correct Answer :-
e & [Option ID = 5974]

48) KIIHBHT=RDHKE ihATW3, [Question ID = 1493]

1. & [Option ID = 5971]
2. % [Option ID = 5969]
3. T [Option ID = 5970]
4. |Z [Option ID = 5972]

Correct Answer :-
e |2 [Option ID = 5972]

49) EEHEANLHEBEHLPLET, [Question ID = 1430]

1. [ A Z 5 [Option ID = 5717]
2. £ A Z 5 [Option ID = 5718]
3. IfAZ5 [Option ID = 5719]
4, £ A, Z 5 [Option ID = 5720]

Correct Answer :-
e |7A Z 7 [Option ID = 5717]

50) kiEDEEHD TRHICILHIADKICITS FETY, [Question ID = 1471]

1. ¥ 7= [Option ID = 5881]
2. ¥9 £ 9 [Option ID = 5883]
3. 72 A7 A [Option ID = 5884]



4. % 7-1% [Option ID = 5882]

Correct Answer :-
o X 7-1% [Option ID = 5882]

51) BHI—kHT Bl L, KOHF &Y hh o7, [Question ID = 1491]

1. & [Option ID = 5962]
2. A [Option ID = 5961]
3. @ [Option ID = 5964]
4. | [Option ID = 5963]

Correct Answer :-
e |Z [Option ID = 5963]

52) fsaaic_ AlE. TOHKICKEETEEFWVLTL LIV, [Question ID = 1446]

. BUWIAE [Option ID = 5783]
. ¥¥birE  [Option ID = 5781]
. B LIAL  [Option ID = 5782]
. % B3A % [Option ID = 5784]

D WN =

Correct Answer :-
e HLIAEL  [Option ID = 5782]

53) o < OARE I, EICARDH B TT, [Question ID = 1515]

. Bt [Option ID = 6058]
. Bzl [Option ID = 6057]
. i < [Option ID = 6059]
. #77 [Option ID = 6060]

N WN =

Correct Answer :-
o )% [Option ID = 6058]

54) iHhE % BETL%>7., [Question ID = 1524]

1. L7\ T [Option ID = 6094]
2. L Tl% [Option ID = 6095]
3. T3 [Option ID = 6096]

4. L A TlZ [Option ID = 6093]

Correct Answer :-
e L7 UL T [Option ID = 6094]

55) B OEICOWT, HLFD B2 TL XV, [Question ID = 1448]

1. AN % [Option ID = 5791]
2. T L2H» & [Option ID = 5790]
3. DA % [Option ID = 5789]

4. ¥ b M X [Option ID = 5792]

Correct Answer :-
o NAN X [Option ID = 5791]

56) t=7 vt tHAT—F/mWL WL MHNTWB, [Question ID = 1477]

1. 727 % [Option ID = 5907]
2. £\ 5 [Option ID = 5906]
3. 7 M T [Option ID = 5908]
4. £ L T [Option ID = 5905]

Correct Answer :-



e & L T [Option ID = 5905]

57) RELF &> THINF-, [Question ID = 1486]

1. ¥ [Option ID = 5944]
2. % [Option ID = 5941]
3. T [Option ID = 5943]
4. |Z [Option ID = 5942]

Correct Answer :-
o % [Option ID = 5941]

58) I3 E < FEZEHATWLET, [Question ID = 1514]

. Z T [Option ID = 6053]
. $& T [Option ID = 6055]

. B - T [Option ID = 6056]

. 4T > T [Option ID = 6054]

N WN =

Correct Answer :-
o jE T [Option ID = 6053]

59) 77 v RExMmmLEL T=o7-—HHIFET, [Question ID = 1472]

1. Lo T% [Option ID = 5888]
2. \v 5 & [Option ID = 5886]
3. L T [Option ID = 5887]

4. \\Z (£ [Option ID = 5885]

Correct Answer :-
e L > T% [Option ID = 5888]

60) 1% 3¥E %= T3LFEZLTWB, [Question ID = 1449]

1. tH%¢ [Option ID = 5794]
2. %1% [Option ID = 5793]
3. fitiz [Option ID = 5796]
4. 4% [Option ID = 5795]

Correct Answer :-
o [igiE [Option ID = 5796]

61) KIEFFhoHhe, bpEYDEEITAWVLSL L7, [Question ID = 1445]

1. $48 [Option ID = 5780]
2. [A]48 [Option ID = 5779]
3. B [Option ID = 5777]
4. ¥#&45 [Option ID = 5778]

Correct Answer :-
« [A]1& [Option ID = 5779]

62) 1 D& Z IH; ] B bk L, [Question ID = 1459]

1. /- T [Option ID = 5835]
2. =5 T% [Option ID = 5833]
3.ik£->T% [Option ID = 5834]
4. %< % [Option ID = 5836]

Correct Answer :-
e 72> 7T% [Option ID = 5833]

63) K RDI-HICHLY L THEE&E%27-HL S5, [Question ID = 1434]



1. 2% < [Option ID = 5735]
2. B x> < [Option ID = 5734]
3. > < [Option ID = 5736]

4. ¥ 9% < [Option ID = 5733]

Correct Answer :-
o UL ¥ < [Option ID = 5734]

64) AIFEVWHERADXHALELED, BULRICEDEAI LW EHR %k >TWHEL, [Question ID = 1492]

1. 7 [Option ID = 5967]
2. % [Option ID = 5965]
3. T [Option ID = 5968]
4. |Z [Option ID = 5966]

Correct Answer :-
e 7% [Option ID = 5965]

65) E# ¥, Ao @& % Bhlr3, [Question ID = 1425]

. 2 L z [Option ID = 5700]
. 2 L % [Option ID = 5699]
. LU z [Option ID = 5698]
. L L % [Option ID = 5697]

D WN =

Correct Answer :-
e UL L % [Option ID = 5697]

66) IFETBDT, TINA FEXPHE.
[Question ID = 1436]

1. #& 7= [Option ID = 5741]
2.9 7=  [Option ID = 5743]
3.{Z&%7-  [Option ID = 5744]
4. 1k 7= [Option ID = 5742]

Correct Answer :-
o [EH 7= [Option ID = 5741]

67) ZOBEIZTFHIC W3, [Question ID = 1456]

1. LT W% [Option ID = 5823]

2. 5L TW% [Option ID = 5821]
3. 52 TWw3 [Option ID = 5824]
4. 5r>TW5% [Option ID = 5822]

Correct Answer :-
o« &L T W5 [Option ID = 5823]

68) O EZEFTTBIDIZ HALAKL T ETIEAELV, [Question ID = 1440]

1. i # [Option ID = 5760]
2. J& ¥ [Option ID = 5758]
3. #E# [Option ID = 5759]
4. K% [Option ID = 5757]

Correct Answer :-
o fiH [Option ID = 5760]

69) HEAHIIA_ iZ 5 [Question ID = 1460]

1. {2 & - T [Option ID = 5839]



2. &5 [Option ID = 5840]
3. & L T [Option ID = 5838]
4. |2 & > T [Option ID = 5837]

Correct Answer :-
e |24 - T [Option ID = 5839]

70) &4 TEB LS. EHLEL &S5, [Question ID = 1429]

"5 H < [Option ID = 5714]
"5 < [Option ID = 5716]
“H < [Option ID = 5713]
“#' < [Option ID = 5715]

(N (8 0y 0y

H WN =

Correct Answer :-
o 5 M < [Option ID = 5714]

71) B2 OEOBIEICOWT, HEFED %35 > TL &LV, [Question ID = 1513]

1. " AA*Z [Option ID = 6051]
2. & & z [Option ID = 6050]
3. ©A X [Option ID = 6049]
4. ¥ bH X [Option ID = 6052]

Correct Answer :-
o NAN X [Option ID = 6051]

72) ABld¥A4

1. (23£25 LT [Option ID = 5896]

2. 1L T [Option ID = 5895]
3.2 VT [Option ID = 5894]
4. [Z & - T [Option ID = 5893]

Correct Answer :-
e |Z& > T [Option ID = 5893]

73) #f# > T# %105, [Question ID = 1447]

1. & & & [Option ID = 5788]
2. |7& Y [Option ID = 5787]
3. < 5 & [Option ID = 5785]
4. #9 [Option ID = 5786]

Correct Answer :-
e [T & A [Option ID = 5788]

74) L—vid #xICELHRITNIELRY FH€A. [Question ID = 1444]

. %25 [Option ID = 5775]
. & [Option ID = 5776]
. 5F % [Option ID = 5773]
. % [Option ID = 5774]

D WN =

Correct Answer :-
« 575 [Option ID = 5773]

75) NEAE_ ERICKRELRAEDH -7, . [Question ID = 1450]

1. |2 % T [Option ID = 5798]
2. O [Option ID = 5799]

3. D ¥ ® [Option ID = 5800]
4. "\ (2 [Option ID = 5797]



Correct Answer :-
o DI [Option ID = 5799]

76) HEXDES R LEWER -TWET, [Question ID = 1453]

1. {23 UL T [Option ID = 5811]
2. [>T [Option ID = 5810]
3. 1< R T [Option ID = 5809]
4. I2< T [Option ID = 5812]

Correct Answer :-
e (22U T [Option ID = 5810]

1. |Z [Option ID = 5912]
2. % [Option ID = 5909]
3. T [Option ID = 5910]
4. |Z [Option ID = 5911]

Correct Answer :-
e T [Option ID = 5910]

78) AN EBEEE A%,

[Question ID = 1503]

1. (Z [Option ID = 6011]
2. % [Option ID = 6009]
3. T [Option ID = 6012]
4. 7" [Option ID = 6010]

Correct Answer :-
e |2 [Option ID = 6011]

79) TOKRETIE, HAE

1. £E~X% & [Option ID = 5870]
2. Z 1% L % [Option ID = 5872]
3. |2/ ¥ T [Option ID = 5871]
4. |2 & > T [Option ID = 5869]

Correct Answer :-
o %Z |3 L & [Option ID = 5872]

80) B XAV HEDT, HHIF LKL . [Question ID = 1457]

1. k£ 7Ly [Option ID = 5827]
2. fii» 4L [Option ID = 5826]
3. F{z4 7%\ [Option ID = 5825]
4. K o 75 Ly [Option ID = 5828]

Correct Answer :-
o {HH 7Ly [Option ID = 5826]

81) REBIEERRy YN TH 3., [Question ID = 1509]

1. .52 9 [Option ID = 6033]
2. & < L [Option ID = 6035]
3. # & 9 [Option ID = 6036]
4. 5 &L [Option ID = 6034]



Correct Answer :-
e & <\ [Option ID = 6035]

82) 4&lEH3 IEH2H,. XKEZEAHLV, [Question ID = 1466]

1. (3 & [Option ID = 5864]
2. Z & [Option ID = 5861]
3. $ ® [Option ID = 5863]
4. 7-% [Option ID = 5862]

Correct Answer :-
e Z & [Option ID = 5861]

83) . A%, NURITHD 2. AXPHRHE~NS, [Question ID = 1464]

1. (5 [Option ID = 5855]
2. Z & [Option ID = 5853]
3. @ [Option ID = 5854]
4. 7= &% [Option ID = 5856]

Correct Answer :-
e |[IH [Option ID = 5855]

84) HYICEWADL ETAKRS, [Question ID = 1426]

1. > ) [Option ID = 5701]
2. £2Y [Option ID = 5703]
3. £ [Option ID = 5702]
4. 1) [Option ID = 5704]

Correct Answer :-
e ¥ D) [Option ID = 5703]

85) ZA&fbIIEA ShhT, AT, [Question ID = 1483]

1. H [Option ID = 5932]
2. % [Option ID = 5929]
3. T [Option ID = 5931]
4. |Z [Option ID = 5930]

Correct Answer :-
e |Z [Option ID = 5930]

86) GFTHMIE. KEZIEZD RHOEBEWHLDTHS, [Question ID = 1481]

1. |% [Option ID = 5923]
2. % [Option ID = 5921]
3. T [Option ID = 5922]
4. | [Option ID = 5924]

Correct Answer :-
e |Z [Option ID = 5924]

87) hIHARDEIC ¥IFTLE 7. [Question ID = 1518]

1. L AT [Option ID = 6069]
2. .5 & 5T [Option ID = 6071]
3. L9 »(Z [Option ID = 6070]
4. 3 < - T [Option ID = 6072]

Correct Answer :-
o BE AT [Option ID = 6069]



88) k&HDHIC ALKAH L EFF%ER 324 Y TT., [Question ID = 1437]

1. %kiE [Option ID = 5745]
2. 4¢%: [Option ID = 5748]
3. $7#: [Option ID = 5747]
4. $%i@ [Option ID = 5746]

Correct Answer :-
4% [Option ID = 5746]

89) MEOHFRITEL LS 72, [Question ID = 1455]

1. Jx i [Option ID = 5819]
2. R ¥) [Option ID = 5820]
3. 7- 0" [Option ID = 5817]
4. —7J5 [Option ID = 5818]

Correct Answer :-
o —7J7 [Option ID = 5818]

90) ¥4 biE, BAOEOYFEREOEDY)F Z#LTW3, [Question ID = 1484]

1. & [Option ID = 5935]
2. % [Option ID = 5934]
3. T [Option ID = 5936]
4. | [Option ID = 5933]

Correct Answer :-
e & [Option ID = 5935]

91) &l T#3%, [Question ID = 1502]

.HEfH% %z &  [Option ID = 6005]

. H 5 Z & [Option ID = 6008]

. E~J@% Z & [Option ID = 6006]

. AN%E7-FHBZ & [Option ID = 6007]

D WN =

Correct Answer :-
e N%7-F45Z& [OptionID = 6007]

92) 8AHBIA

1. £\ [Option ID = 5844]
2. &£ L T [Option ID = 5841]
3. [ZH 17T [Option ID = 5842]
4. [Z & - T [Option ID = 5843]

Correct Answer :-
e [T/ F T [Option ID = 5842]

93) HDEEIR ICARDHBHE4ET, [Question ID = 1523]

1. 14 [Option ID = 6090]
2. F4: [Option ID = 6092]
3. B4 [Option ID = 6091]
4. "4 [Option ID = 6089]

Correct Answer :-
‘L4 [Option ID = 6089]

94) Lhh HEW DT, JIICEDIWTIEWITEEA, [Question ID = 1442]

1. B [Option ID = 5767]



2. i [Option ID = 5766]
. i [Option ID = 5765]
4. it [Option ID = 5768]

w

Correct Answer :-
o JiiM [Option ID = 5768]

95) MEZEbNTHLFRTTHh L, LELAEVWTL IV, [Question ID = 1435]

. LAILL [Option ID = 5739]
. LAIEL  [Option ID = 5740]
. LAIZL [Option ID = 5737]

|
|
|
. L = 1£\> [Option ID = 5738]

D WN =

Correct Answer :-
o LA  [Option ID = 5740]

96) HAT—HFEKREHEIZ T#H%, [Question ID = 1497]

1. JkiiE [Option ID = 5985]
2. JLJH [Option ID = 5987]
3. & [Option ID = 5986]
4. U [E [Option ID = 5988]

Correct Answer :-
o M  [Option ID = 5986]

97) < £Ic BBl 3, [Question ID = 1498]

1. T ZHMN T [Option ID = 5992]
2. AT [Option ID = 5990]
3. .5 A T [Option ID = 5989]

4. 2 27T [Option ID = 5991]

Correct Answer :-
o X ZHMN T [Option ID = 5992]

98) HAETIE. A REZRILTIDIC %15, [Question ID = 1496]

1. U5 A% [Option ID = 5981]
2. A1 #=# 7 [Option ID = 5983]
3. < Y A#'% [Option ID = 5982]
4. 31 17 [Option ID = 5984]

Correct Answer :-
o M7=/ 7 [Option ID = 5983]

99) [Ehuwhit. | o [EFhuk] IF T#H 3, [QuestionID = 1495]

1. 5 [Option ID = 5979]
2. J& %5 [Option ID = 5978]
3. B [Option ID = 5980]
4., 5 [Option ID = 5977]

Correct Answer :-
» JEZ% [Option ID = 5978]

100) COBEREZINIEEZS Hhoi{HE>TL %, [QuestionID = 1452]

1. »° % [Option ID = 5806]
2. < %L [Option ID = 5808]
3. |13 &£ [Option ID = 5805]
4. & V) [Option ID = 5807]



Correct Answer :-
e |X & [Option ID = 5805]



